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Teddy has fewer than 60 marbles but more than 40

When he shares them equally into 3 pots he has no remainders.
When he shares them equally into 4 pots he has remainder 3

When he shares them equally into 5 pots he has remainder 1
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Which calculation is the odd one out?
Explain your thinking.
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Teddy has fewer than 60 marbles but more than 40

When he shares them equally into 3 pots he has no remainders.
When he shares them equally into 4 pots he has remainder 3
When he shares them equally into 5 pots he has remainder 1

How many marbles could Teddy have?
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